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Abstract

With the progress of science and technology, the demand for energy is
becoming more and more intense. In such an era when energy resources are
relatively scarce, efficient energy conversion will make our life more technological
progress. Each form of energy requires a corresponding device to convert it into
another form of energy. Together, these devices make up the thermodynamic system.
There are two methods to calculate the energy conversion efficiency of a
thermodynamic system, one is based on the law of conservation of energy, the other
is based on the second law of thermodynamics. Taking the thermal system of thermal
power plant as the object of analysis, this paper calculates the conversion rate of
available energy and the loss of available energy by using the method of analysis. In
order to evaluate the perfect degree of thermal system, the thermal analysis method
should be used to calculate the thermal system as a comparison, and then draw
conclusions.

There are many kinds of martingale. In a certain thermodynamic system, there
are many kinds of martingale. In the process of conversion, some reactions are
irreversible, so the martingale loss occurs, which affects the efficiency. It is
necessary to calculate the heat balance before calculating the energy conversion
efficiency of the system by using the Fourier analysis method. The heat balance
parameters include the total heat of fuel combustion, the heat loss caused by the
Fourier gas, the heat absorbed by the water vapor, and then calculate the balance of
income and expenditure. Then we calculate the epee equilibrium. The epee
equilibrium parameters include epee loss, fuel supply, water supply, steam and
temperature. Some of the hard-to-measure losses are not included in the losses used
in the calculation, such as emissions and diffusion. According to the theoretical
combustion temperature of coal, the temperature brought by combustion products is

calculated. Combustion is an irreversible chemical reaction, and this energy is
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